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1. ZAHUE
ZH |2 o= 2 |+==E2 SRR 3,556
ENEEREE o2 E g2 | 2011.07.28
IE=a=t1 DAIFSNE=4 HedA |oilgz AdtH SF2| At24 WESS=DN; 2011.07.28
2. =EZAN 2
A= Jl &= 2 | &< A= Jl &= Z2 | &9
2Bt Nl ? (Total Colonies) - - CFU/m¢ | C|2 2 2 il & (Dichloromethane) - - mg/L
EWUE 2 (Total Coliforms) - - /i00me | &l Al (Benzene) - - mg/L
= A S U&7 (Fecal Coliforms) - - /100m¢ | & 2 9 (Toluene) - - mg/L
CH & (Escherichia Coli) - - /100m¢ | Ol €I HE (Ethylbenzene) - - mg/L
= (Pb) - - mg/L | 32 & &l (Xylene) - - mg/L
2 2 (R - - mg/L | 1.1-CI222 0 €8l (1.1-D.C.E) - - mg/L
Bl A (As) 0.010lot| E8E | mg/L | AFESHEIA (CCl, ) - - mg/L
Ml el & (Se) - - mg/L | & & (Hardness) - - mg/L
= 2 (Hg) - - mg/L | t2tAAFEAH|IE - - mg/L
Al 2F(CN) - - mg/L A (Odor) - - -
3 & (Cr) - - mg/L 9t (Taste) - - -
AZ2LI0tEE A (NH; - N) - - mg/L | &= 2l (Cu) - - mg/L
AN E A (NO; - N) - - mg/L | & & (Color) - - ==
ot £ F(Cd) - - mg/L | Al Wl (ABS) - - mg/L
2 = (B) - - mg/L | £20/125% (pH) - - -
H = (Phenols) - - mg/L | Ob  © (Zn) - - mg/L
SEC|EZH E (THMS) - - mg/L | 40|12 - - mg/L
22 £ E (Chloroform) - - mg/L | EYEF=2 (R.E) - - mg/L
CtOl 0t Xl = (Diazion) - - mg/L | & (Fe) - - mg/L
Ttet Xl 2 (Parathion) - - mg/L | & 2+ (Mn) - - mg/L
12-[1822-3-22z0z0 - - mg/L | & E (Turbidity) - - NTU
HILIEZ X2 (Fenitrothion) - - mg/L | 40|12 - - mg/L
I} "t 2 (Carbaryl) - - mg/L | £20I&s (Al - - mg/L
1.1.1-Ec2|22 20| E(1.1.1-TCE) - - mg/L | &FFA - - mg/L
HE2Z=Z20 €8l (PCE) - - mg/L | ECIEZZ20IMELIEE (TCAN) - - mg/L
E2|22 20| =@l (TCE) - - mg/L | EZ20FAIEI0AIE (HAA) - - mg/L
2221510120/ (CHR) - - mg/L | EEX U2 Z 20 EF (BDCM) - - mg/L
CIS220f0IHIELIEZ (DBAN) - - mg/L | CIE22 =222 (DBCM) - - mg/L
CI22Z0lMIELIEZ (DCAN) - - mg/L | 1,4-CI0ISAt - - mg/L
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STAMLTALE SHAAN U 242H4Xe M6Z FHO| 215101 CHS D 20l 2EAA
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1. ZAHUE
ZH |2 o= 2 |+==E2 SRR 3,557
ENEEREE o2 E g2 | 2011.07.28
IE=a=t1 DAIFSNE=4 MW= lolg2 a3 g2l 10-9 WESS=DN; 2011.07.28
2. =EZAN 2
A= Jl &= 2 | &< A= Jl &= Z2 | &9
2Bt Nl ? (Total Colonies) - - CFU/m¢ | C|2 2 2 il & (Dichloromethane) - - mg/L
EWUE 2 (Total Coliforms) - - /i00me | &l Al (Benzene) - - mg/L
= A S U&7 (Fecal Coliforms) - - /100m¢ | & 2 9 (Toluene) - - mg/L
CH & (Escherichia Coli) - - /100m¢ | Ol €I HE (Ethylbenzene) - - mg/L
= (Pb) - - mg/L | 32 & &l (Xylene) - - mg/L
2 2 (R - - mg/L | 1.1-CI222 0 €8l (1.1-D.C.E) - - mg/L
Bl A (As) 0.010lot| E8E | mg/L | AFESHEIA (CCl, ) - - mg/L
Ml el & (Se) - - mg/L | & & (Hardness) - - mg/L
= 2 (Hg) - - mg/L | t2tAAFEAH|IE - - mg/L
Al 2F(CN) - - mg/L A (Odor) - - -
3 & (Cr) - - mg/L 9t (Taste) - - -
AZ2LI0tEE A (NH; - N) - - mg/L | &= 2l (Cu) - - mg/L
AN E A (NO; - N) - - mg/L | & & (Color) - - ==
ot £ F(Cd) - - mg/L | Al Wl (ABS) - - mg/L
2 = (B) - - mg/L | £20/125% (pH) - - -
H = (Phenols) - - mg/L | Ob  © (Zn) - - mg/L
SEC|EZH E (THMS) - - mg/L | 40|12 - - mg/L
22 Z X E (Chloroform) - - mg/L | SL&== (R.E) - - mg/L
CtOl 0t Xl = (Diazion) - - mg/L | & (Fe) - - mg/L
Ttet Xl 2 (Parathion) - - mg/L | & 2+ (Mn) - - mg/L
12-[1822-3-22z0z0 - - mg/L | & E (Turbidity) - - NTU
HILIEZ X2 (Fenitrothion) - - mg/L | 4012 - - mg/L
I} "t 2 (Carbaryl) - - mg/L | £20I&s (Al - - mg/L
1.1.1-Ec2|22 20| E(1.1.1-TCE) - - mg/L | &FFA - - mg/L
HE2Z=Z20 €8l (PCE) - - mg/L | ECIEZZ20IMELIEE (TCAN) - - mg/L
E2|22 20| =@l (TCE) - - mg/L | EZ20FAIEI0AIE (HAA) - - mg/L
2221510120/ (CHR) - - mg/L | EEX U2 Z 20 EF (BDCM) - - mg/L
CIS220f0IHIELIEZ (DBAN) - - mg/L | CIE22 =222 (DBCM) - - mg/L
CI22Z0lMIELIEZ (DCAN) - - mg/L | 1,4-CI0ISAt - - mg/L
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